%2%% AP RASIER

Q%gﬁﬁm

W) —s—3x22—(—D".
FERE:



of i}
~ N it =] BB
1. HEEN TR R R S EE .

(HEE Ja 5. I S5 .
() [EHzH gl KR 17
HWMAEFES R B,
2. B 2X(—3)—4=(—2)+15 B}, E R
bES g =i il 2w E s R R
3. HEL2{(0—8X(—D+{—1D]=
@ ﬂ; —— % ¥ A H
L. FAIEA P PR RET 0 12
A, (—2)2—(—2%) B, —22—2?

G =2 Iy =g~ Z )

2l



2,18 . 1—2° X(—3)= (

A, —27 B. —23 C. 21 D. 25
.HE 12— 7X(—)+8+(—2) NERE (
A. —24 B. —20 C.6 D. 42

4. Ba=—2X3,b=(—2X3)",c=—(2X3)*, M a.b,c WRPIREZE (
A. a{g _. B. c<<a<<b C. c<<b<a D. a<b<c




. R TR R L AR« B 1,0
e,
Wy 5 . :

: 1 11 1 i
- XWJﬁTﬁEJﬁ:—l,?,—?,I,—g,"'aﬁ?”ﬁﬁq SEH
.
B8N E 19 TNER iy l
. )
2018 4~ 82 . .
— , Wk4 [ GRKRT0
. METHERBEHEINERXL:0+1=1%,2X1+2 z
=22,3X2+3=32,4X3+4=4%, -, iFIREHEE -
10 /452 B . Mty
CHE . B5HEE

(1Y—10+8+(—2)*—(—4)X(—3);



(2)32-= (—2)% 4 (—2)° ><(—%)—22;

e il ca L oo B e s 1B T
(3)(—3) 12><5_4J 6= | 3|.



-

TH 1 L A

9. (2018 FEMTOIMEXN —FHFBEE .aXb=0b"—
ab, M :1%2=22—1X2=2,M(—1%2)%3 ZF

( )

A. —9 B. —6 C.6 D.9
10. B Hl a=—(—2)2,b=—(—3)" ,c=—(—4)%, M|
—[a—(b—0¢) |ZFTF ( )

As 15 B 17 G, —39 D. 47



1. EHR(Z &) — B hid &,
I NG (NGB (i
T4 ok G0 S 20w, B 45 48 31
B, — 7B R AR A 2
AR I HE 5 1Y 48 1 b AT 45, T
Lt —, Fkicx& T A A&
Ja B R K. B E R R, 7 A AR B KBS

(
A. 84 B. 336 C. 510 D. 1326




12. (2018 F B B )M TN EH“ M ”F AP & ZE 0
. RIE AR RS o« BEN ( )

1 3 5 11

2 | 3 4|7 g | 13| | p | a

A. 23 B. 15 (90 D. 139
[l Lt@m—47% 2 1,3,5,.2n— 1 £ 8 F . £ R
21,22,23 oo 2" HEFH], S Hb=2°=64,..a=11+64=75.



13. I 5.
(1)—1 (1—0.5)><-§—><[2—(—3)2];




11
3

(9)— 4 = 32)—[(—%)%«—32) e,



1
Z

(3)—1—{(—3)3—[3+%><(—1 )y = (—2)).




4. 2 a=—7,0=—2,K(atb)*,a* +2ab+ b W
{8, 3 L3 K.




15. B4 la"—16|+b—2)=0,3k T H{t X 181
(1)a®—b";
(2)a’—ab—2b%,







;\ v
— ﬁ']?fﬁ —— K F 4 K

2 ,—4, 8 ,—16, == @D _ %
“y

—1, 2 ,—4, 8 , = © itk

3 !_3‘! 9 9_]5? bdals @

(DO BT 2 FL i HES 2
)FQ.OITHEEOITH I NEMFLKER?




(3) BURATBUAY S 9 %0, 115X = %0 .




















































